New Zealand Theory Exam
September 2019

Question Answer Rule Marks

A Goal Circle is located at each end of the court. This is a semicircle with a radius
of:

(a) 4m(13ft) 3.1.1 (v) ]
(b) 4.9m (16f1)
(c) 4.25m (13.9ft)

All lines (preferably white) are: 3.1.1(vi)
(a) 50mm (2in)

(b) 40mm (1.6in)
(c) 60mm (2.4in)

During play only on-court players and umpires are permitted in the field of play.
(True/False)

Question Answer Rule Marks

Who are the Match Officialse
(a) Two Umpires

(b) Reserve Umpire 5.2 2
(c) Timekeepers
(d) Scorers

How many Scorers in a match?
(a) 2

(b) 3 5.3 1
(c) 4

When may the Captain approach the Umpires for clarification of a rule:
(a) At a stoppage

(b) At an interval

(c) At an injury

5.1.1 (v)(b) ]




UMPIRE A

Refer to the diagram below for questions 7 and 8

BLACK O
GOAL

F

7. Black has the first Centre Pass at the start of a
game.

7a. Which Umpire starts play?
Umpire A
Umpire B

7b. Which Umpire would take a Toss Up at Point
77

Umpire A

Umpire B

UMPIRE B

MATCH PERSONNEL

This section of the exam tests your knowledge around the team, match officials and technical

WHITE
GOAL

8. White scores the first goal. Which Umpire is
responsible for the following?

8a. Restarting play?
Umpire A
Umpire B

8b. Ruling out of Court at Point F?

Umpire A
Umpire B

9
A primary care person can be a player that is on the bench? True/False 5.1.2 (ii) (c) 1
10 The Umpire winning the toss for goal end controls:
(a) The side-line nearer the official bench 5.2.1(i) 1
(b) The goal end to where the first Centre Pass is going.
11 Black WD and White GA both attempt to gain possession of the ball which goes
out of court. The Umpire is not well positioned to determine who hit the ball out.
11a
What is the Infringement? 5.2.1{iii) 1
11b . .
What Action(s) would the Umpire take? 5.2.1(iii) 1
I1c . .
Explain the reason for your action 5.2.1(iii) 1
Question Answer Rule Marks




2
This section of the exam tests your knowledge of the rules at the start of play and during the match.
. Determine whether each image correctly demonstrates conditions for controlling the centre pass.
(@) (b) ©
Correct Correct Correct
Not Correct Not Correct! Not Correct’
8.2.1
13 At the start of the game, White Team has only 4 players present to take the court. A
further player arrives for the White Team before 30 seconds is up.
What is the Infringement?
13a (a) No Infringement. 8.1.1 (i)(q)
(b) Arriving within 30 seconds.
What is the Sanction/Action?
(a) Let Play Conftinue
(b) Blow whistle to start the game then award a Penalty Pass to Black taken in
13b Centre Third by the transverse line at the Goal end of the non-infringing team, 8.1.1(i)(q)
White C stands out of play.
(c) Blow whistle to start the game then award a Free Pass to Black tfaken in the
Centre Third by the transverse line at the Goal end of the non-infringing team.
Black GS takes a Throw in from behind the Goal Circle. The ball rebounds from the
14 Goal Post. Black GS jumps in the air and bats the ball before landing on court, the
ball goes through the Goal Ring.
14a What is the Infringement? 8.3.2(iv)




14b | What is the Sanction/Action? 8.3.2(iv) 1
14c Explain the reason for your action 8.3.2(iv) 1
15 Black GK is taking a Throw In close to the side-line transverse line. Before releasing
the ball Black GK steps behind the centre third passing the ball to Black C.
15a What is the Infringement? 8.4.1(i) (f) ]
15b What is the Sanction/Action? 8.4.1(i) (f) 1
15¢C Explain the reason for your action 8.4.1 (i) (f 1
Question Answer Rule Marks
Team official and bench players may not coach while play is in progress. .
16 6.2 (i)(a) 1
(True/False)
17 When a warning is given to a player the Umpire advises the co-umpire. (True/False) 6.1.6 {ii) 1
From Black's Goal Line Throw In, Black C moves towards the side-line to receive the
18 pass. Black C and the Umpire collide on court close to the side-line, just as Black
GA picks up the ball.
18a What is the Infringement? 6.1.2(ii) 1
18b What is the Sanction/Action? 6.1.2((i) 1
18¢c Explain the reason for your action 6.1.2(ii |
D e o
Question Answer Rule Marks
19 The two Cenfres simultaneously go offside into the Goal Circle, neither had any 9.7.1(ii) (a) :
contact with the ball. Play Continues. (True/False) o
20 A player may hold the ball for 3 seconds and then pass the ball. (True/False) 9.4.1(ii) (c) 1
After catching the ball, Black GA accidentally drops it. As the ball bounces up,
21 Black GA, without catching the ball, bats it to Black GS standing close to the
Goalpost.
21a What is the Infringement? 9.4.1 {(ii) (d) ]
21b What is the Sanction/Action? 9'4%] ](”()i)(d) 1
21c Explain the reason for your action 9.4.1 (i) (d) 1
White C catches the ball in Black's Goal Third. White C steps forward into the
22 Centre Third and passes the ball that is infercepted by the Black GD in White's Goal
Third.
22a What is the Infringement? 9.5.2{ii) |




(a) No Infringement,
(b) Ball Over a Third White,
(c) Ball Over a Third Black.

22b

What is the Sanction/Action?

(a) Let Play Continue, advantage Rule Applies,

(b) Free Pass Black in Goal Third where ball was caught.
(c) Free Pass White in Goal Third where ball was caught.

Question

Answer

7.2 (i) (a) (o)

Rule

Marks

23

Name the whistle that Umpires use at the beginning of a period of play or to restart

play after a stoppage?
(a) Medium whistle,

(b) Long whistle roll,
(c) Medium whistle roll.
(d) Long whistle.

Match
Protocols
Rule 6(i)(a)

24

During Play (for an infringement, a toss-up, ball out of court) name the whistle
used?e

(a) Medium Whistle,

(b) Long Whistle,

(c) Medium whistle roll.

Protocols
Rule
6 (i) (b)

25

Name the whistle used to end a period of play?
(a) Long Whistle,

(o) Long Whistle roll,

c) Medium Whistle Roll.

Question

Protocols
Rule 6 (i)(d)

26

White GK knocks the Goalpost causing Black's shot af goal to miss. At the same
fime as Umpire A blows the whistle for this infringement, Umpire B blows to signal
the end of the game.

26a

What is the Infringement?
(a) No Infringement,
(b) White GK causing the goalpost to move during a shot at goal.

4.1 (i)
10.2(ii) ()

26b

What is the Sanction/Action?
(a) Let Play Continue,
(b) Penalty Pass Black where White GK knocks the Goalpost,

4.1(iil)
10.2(ii) ()




c) End game as the penalty has not been awarded before whistle to end game

Question Answer Rule Marks
During a match team officials and bench players may not (select all that apply): 13.3 (i)
(a) Criticise the Umpires decisions, (a,b,c.d)
57 (b) Use offensive language, 4
(c) Use excessive noise or interruption,
(d) Encourage foul play by on-court players,
(e) Leave the team bench.
8 Black WD continues to go offside after receiving a caution. What would be the 13.1 1 :
Umpire's next course of action?e — Written Answer s
29 Later in the same quarter, Black WD runs through the Goal Circle at White's Throw 13,12 1
In. What action could the Umpire take? — Written Answer s
Early in the fourth quarter, Black C is penalised for Contact. Black C's Coach calls 13.3(i) (a)(b)
30 out inappropriate comments to the Umpire. What would the progression of ’ 1
: . (c)
action/s normally be used.¢ — Written Answer
Black WD is penalised outside the Goal Circle and stands in the correct posifion
indicated by the umpire. White WA takes up the position for the penalty on the
31 other side of their goal circle to where the Black WD is standing. This is the third time
the White WA has moved to an incorrect position when a sanction has been
awarded.
31a What is the Infringement? ]37'2]']]“) 1
3lb What is the Sanction/Action? 13.2.1{i) 1
31c Explain the reason for your action 13.2.1(i 1
Question Answer Rule Marks
37 Black GK defending from the correct distance deflects the shot at goal by the
White GA, the ball passes through the Goal Ring.:
What is the Infringement?
300 (a) No Infringement, 10.1 (i) :

(b) Obstruction Black GK,
(c) Defending Player not allowed to score a Goal.




What is the Sanction/Action?
(a) Let Play Contfinue - Count Goadl,

32b (b) Free Pass White where Black GK shot for Goal, discount goal 10-1((ii) ]
(c) Penalty Pass White where White GA shot for Goal, discount goal
33 White GS catches a low pass just inside the Goal Circle. To gain balance, GS leans
on the ball outside the Goal Circle, stands up and successfully shoots for goal.
33a What is the Infringement? 10.2(i)(a) 1
33b What is the Sanction/Action? 10.2(i)(a) 1
33c Explain the reason for your action 10.2(i)(a ]
Question Answer Rule Marks
Black GS and White GK both attempt a rebound in the goal circle and
34 . -
simultaneously knock each other causing each other to go off balance.
What is the Infringement?
34a (a) No Infringement, 12.2.3 8.5 (v) 1
(b) Simultaneous Contact Black GS / White GK,
What is the Sanction/Action?
34b (a) Toss Up in Goal Circle Black GS /White GK, 12.2.3 8.5(v) 1
(b) Let Play Continue.
35 White WA jumps to receive a pass at the edge of the Goal Circle. Black WD moves
into the landing space of White WA who falls and lands in the Goal Circle.
What is the Infringement?
a) Causing Contact Black WD, .
35a gb} No Infri%gemen’r, 12.2.1 (i ]
(c) Offside White WA.
What is the Sanction/Action?
(a) Let Play Confinue, ..
350 (b) Free Pass in Goal Circle Black, 12.2.1(i) ]
c) Penalty Pass White where Black WD moved into White WA's landing space.
OD O
Question Answer Rule Marks
White C leaves the Court to gain a better playing position. From on court, Black WA
36 . .
prevents White C from re-entering the court.
36a What is the Infringement? 11.3.2 (i) 1




(a) No Infringement,
(b) Obstruction Black WA.

What is the Sanction/Action?
(a) Penalty Pass White on court where the Black WA was standing,

36b (b) Let Play Continue, 11.3.2(i) ]
(c) Free Pass White on court where the Black WA was standing.
Black GA looks to pass the ball to Black C on the Goal Circle edge. White WD,
37 standing right next to Black C has one arm extended in front of Black C, preventing
Black C catching the pass. Black GA releases the ball at 3 seconds.
What is the Infringement?
(a) No Infringement, .
37a 1 (b) Held Ball Black GA, 1) ]
(c) Obstruction White WD.
What is the Sanction/Action?
(a) Let Play Confinue .
370 | (1) Free Pass White where Black GA held the ball T.1(w) ]
(c) Penalty Pass Black outside Goal Circle where White WD obstructed.
38 As White WA moves forward to receive the Centre Pass, Black WD stretches an arm
out across White WA in an attempt to intercept the pass;
38a What is the Infringement? 11.2(i)(a) 1
38b What is the Sanction/Action? 11.2(i)(a) 1
38c Explain the reason for your action 11.2(i)(a) |
Question Answer Rule Marks

39
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